
 о6=о д64 Eтолет8O =474д, оEе==8< 
д=е< 1821 7од4, 6 �оEк6е Dод8лEO 
Gело6ек, Eт46H89 длO 6Eе7о <8D4 
7л46=O< DуEEк8< п8E4теле< 8 
6OD478теле< 7474доG=о9 DуEEко9 
дуH8. �=о7ое 87 пDедEк474==о7о 

�оEтое6Eк8< 6 к=874E E5OлоEP 6 
де9Eт68телP=оEт8, 4 7еDо8 е7о 
Dо<4=о6 пDодол64Nт Eод8тP <е6ду 
=4<8. ОткDOтOе 8< 5е7д=O 
Gело6еGеEко9 дуH8 до E8E поD пу74Nт 
<=о78E, 4 D8лоEоDEк8е <4кE8<O 8 
=D46Eт6е==Oе 8де4лO 6O7O64Nт =е 
толPко 7оDOGуN лN5о6P, =о 8 67уGуN 
=е=468EтP.  

  о<4= «�ед=Oе 
лNд8» (1846)—Dо<4= 
6 п8EP<4х. 
�оEтое6Eк89 D4EкDOл 
те<у 687=8 лNде9, 
котоDOе 6 E8лу 
о5EтоOтелPEт6 

6O=у6де=O о7D4=8G864тP Eе5O 6о 
6EU<. �епDо7лOд=4O =8Iет4, 
5е7OEEод=оEтP, =е6о7<о6=оEтP Gто-то 

87<е=8тP – то, Gе< пDо=8к=уто 6EU 
по6еEт6о64=8е.  

 

 о<4= «У=86е==Oе 8 
оEкоD5ле==Oе»  (1861) 
Eт4л пеD6O< 
EеDPе7=O< 
пDо876еде=8е<, 7де 
п8E4телP отD478л 

пDо5ле<O 8 уEто8 QпоE8. &е<4 
Dо<4=4 — 5ед=Oк8, ок4746H8еEO 5е7 
=ео5Eод8<о9 поддеD6к8 8 
покDо68телPEт64. О=8 о5е7доле=O 8 
у=86е=O 5олее 6л8OтелP=O<8 8 
6л4Eт=O<8 лNдP<8, =4 EтоDо=е 
котоDOE — де=P78 8 74ко=.  

 

Ж4=D  Dо<4=4 
«И7Dок» (1866) 
ок474лEO 
E<еHе=8е< лN568 
8 464=тNDO E 
D8лоEоDEк8<8 
6Eт46к4<8 E4<о7о 

46тоD4, 6о 7л46е пDо876еде=8O 
Dулетк4 - E8<6ол 687=е==о7о Dок4. 
�л46=O9 7еDо9 по6еEт6о64=8O – 

�лекEе9 �64=о68G, EтD4Eт=O9 87Dок. 
�7D4 74т<е64ет д46е е7о 
6о7лN5ле==уN �ол8=у, EотO D4д8 =еU 
=ед46=о о= 7ото6 5Oл д46е л8H8тPEO 
687=8. 

� Dо<4=е 
«�DеEтупле=8е 8 
=4к474=8е» (1866) 
п8E4телP т4к    же 
о5D4I4етEO к те<е 
«у=86е==OE 8 
оEкоD5ле==OE». 
!удP54   од8о=4 

 4EколP=8ко64 - од=4 87 6о7<о6=OE 
путе9 дуEо6=о7о D4768т8O т4к8E 
лNде9. -то од8= 87 теE 7еDое6 
�оEтое6Eко7о, котоDOе 
пDот86опоEт46лONт Eе5O <8Dу 8 
дDу78< лNдO<, 6O58D4Nт «5у=т» 
пDот86 о5IеEт64. 

 



ОE=о6=4O 8деO 
Dо<4=4 «Ид8от» 

(1869) пок474тP 
D47ло6е=8е DуEEко7о 
о5IеEт64 6 EлоOE 
8=телл87е=F88. � 
Qт8E кDу74E 

=45лNд4етEO дуEо6=O9 уп4док, 
D8л8EтеDEт6о, EупDу6еEк8е 87<е=O, 8 
д6о9=4O 687=P — пD4кт8GеEк8 =оD<4. 
К=O7P �OHк8= – 7л46=O9 7еDо9 – 

Gело6ек =ео5OG49=о9 дуHе6=о9 
оD74=874F88. 'ело6ек – Eол=Fе, 
67DоEлO9 Dе5е=ок. � е7о дуHе =ет 
<еEт4 подлоEт8 8 л68. 

 

� оE=о6у Dо<4=4 
«�еEO» (1871) Ф.�. 
�оEтое6Eк89 поло68л 
у589Eт6о Eтуде=т4 
Gле=4<8 од=о7о 87 
Dе6олNF8о==OE 

кDу6ко6, котоDOE 6 ко=Fе XIX 6ек4 
5Oло =е<4ло. К подо5=о<у кDу6ку 6 
<олодоEт8 пD8=4дле64л 8 E4< 

п8E4телP, 74 Gто 6 G8Eле пDоG8E 5Oл 
пD87о6оDе= к 6OEHе9 <еDе 
=4к474=8O, котоD4O 6 поEлед=89 
<о<е=т 5Oл4 74<е=е=4 EEOлко9. 
«�еEO» 6 опDеделе==о9 <еDе 
отD464Nт л8G=O9 опOт п8E4телO. 

 

 о<4= «�одDоEток» 

(1875)Dе4л8Eт8GеEк89 
Dо<4=, 6 котоDо< 
�оEтое6Eк89, к4к 6 
7еDк4ле, отD478л =е 
толPко т8п8G=Oе 
E4D4ктеDO 

Eо6Dе<е==о7о отF4 8 EO=4, =о 8 
пDо5ле<O о5IеEт64, 6 то< G8Eле 8 
=D46Eт6е==Oе. �оEтое6Eк89 Eт468л 
пеDед Eо5о9 FелP «=4п8E4тP Dо<4= о 
DуEEк8E тепеDеH=8E детOE, о 
тепеDеH=8E 8E отF4E 6 тепеDеH=е< 8E 
6748<=о< Eоот=оHе=88». 
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